


1.The ratio of the ages of two persons is 4 . 7 and the age of one of them
IS greater than that of the other by 30 years. The sum of their ages (in

yea[s\) IS
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(a) 110
(b) 100
(c) 70
(d) 40




2.

Harsha is 40 years old and Ritu is 60 years old. How many years
ago was the ratio of their 3:5?
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a) 10 years
b) 20 years
(c) 37 years
(d) 5 years




3. Ratio of A's age to B's age i1s 4:3. 'A" will be 26 years old
after

6 years. The age of B now Is
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(a) 11 years
(b) 21 years
(c) 21 years
(d) 15 years




4. The ratio of present ages of R and S is 11:17, before 11 years the
ratio of their ages was 11:20. What is R's present age (ig year§) ?
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(a) 51
(b) 33
(C) 22
(d) 40




5.The present ages of two persons are 36 and 50 years respectively. If
after n ¥ears the ratio of their age will be 3:4, then the value of n is
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(a) 4
(0) 7
(c) 6
(d) 3




Four years ago, the ratio of the age of A and B was 2:3 and after

four years it will become 5: 7.Find t

neir present age.
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(a) 36 years and 40 years
(b) 32 years and 48 years
(c) .40 years and 56 years
(d) 36 years and 52 years




7.The ratio of the present age of Puneet and Appu Is 2:3. After 3 years
the ratio of their age will be 3 : 4. The present age of Puneet |s
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(a) 3 years
(b) 6 years
(c) 9 years
(d) 4 years




8.The ratio of the age of Ram and Rahim 10 years ago was 1: 3. The ratio
of their age five years hence will be 2 3. Then the ratio of their present

age Is -
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(a) 1:2
(b) 3:5
(c) 3:4
(d) 2:5




9

The ratio of age of two boys is 5:6. After two years the ratio will
be 7: 8. The ratio of their age after 12 years will be
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a) 22
24 ']

15
b) >

11
d)E




10.The ratio of ages of the father and mother was 11:10 when their son
was born. The ratio of ages of the father and mother will be 19:18 when
the son will be twice his present age. What is the ratio of present ages of

father and motwer? -
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(a) 15 :14
(b) 14: 13
(c) 16 : 15

(d) 17: 16




11.6 years ago, mother's age was 18 years more than the son's age. If the
sum of their present ages Is 30,what was the age of the mother 6 years

back?
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(1) 32 years
(2) 36 years
(3) 30 years
(4) 24 years




" 12.A father's age is four times as much as the sum of the ages of his three
children but 6 years hence his age will be only double the sum of their

ages The age of the father is:
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(1) 30 years
(2) 40 years
(3) 60 years
(4) 45 years




13. The sum of ages of a mother and her daughter is 50 years. Also 5
years ago, the mother's age was 7 times the age of the daughter. What are

the present ages OI the mother and the daughter?

Teh AT 3R IHH! ol Bl I BT I 50 A 8. S 31T 5 Al
Hsﬂ%:-ll DI 7T A BT F AT AT 3R 9T D addH I,
K[ &7

(1) 40 years, 10 years
(2) 48 years, 12 years
(3) 32 years, 8 years
(4) 36 years, 9 years




14.Ram's present age Is one-sixth of his father's age. If the difference

between their present ages Is 35years, w
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nat is his father's present age?
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(1) 32 years
(2) 42 years
(3) 52 years
(4) 44 years




15.man's age Is 150% of what it was10 years ago, but 75% of what it will

be after 10 years. What Is his present age?
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(1) 25 years
(2) 30 years
(3) 35 years
(4) 40 years




16)The average age of family of 5 members is 24. If the present age of
the youngest member is 8year, what was the average age of the family at
the of the birth of the youngest member.
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20 yr
16 yr
12 yr

none
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17)The age of meghna is 120% of the age of abhi and the ratio of the age of abhi
to ankit is 5:8. If the age of meghna 5 years hence is equal to the age of ankit 5
years ago then find the age of abhi?
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25 yr
50 yr
20 yr

not
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The ratio between present ages of A and B is 5:3 respectively. The ratio between

A’s age 4 years ago and B’s age 4 years hence is 1:1.find the ratio between A’s age

4 years hence and B’s age 4 years ago.
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1. 1:3
2. 2:1
3. 3:1
4. 4:1




